FEx= 1327.65

22.5739

FBy=1394.46#

FBy= 2658.224#

60.9758

SMP=(FB,*60.9758”) + (FCA*25.4703") — (FDF¥15.3091”

y=0

(40.0581#*60.9758") + (1865.80#*%22.3739”) — (FDF#*15.3091")=0

44187.8"# — (FOF#*15.3091”)=0

44187.8"# = FDF§*153097"
15.3091” 1536971

2886.37# = FOF#

= + FCA( + FDFx — FEx=0
-2658.22 + (1865.80#* COS 14.2712') + (2886.374#*C0541.0219°) — FEx=0

1327.65"# — (FE)=0
1327.65"# = FEy

SF¥=FBy — FCAy + FDFy — FEy=0
—40.0581# — (1865.80#*SIN14.2712) + (2886.37#*SIN41.0219") + FE=0

1394.464 + FEy= O
1394.464 = FEy

142710



